[This question paper containg 4 printed pages.)

Your Roll Nouiii...
Sr. No. of Question Paper @ 4013 A

Unique Paper Code © 02277628

Name of the Paper Public Finance

Name of the Coursc : B.A. Programe
Semester VI
Duration : 3.5 Hours Mz’lximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Answer any three questions from Part A and any two
questions from Part B.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the

same medium should be used throughout the paper.
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SECTION A

Q 1. Discuss the stabilization function of public scctor. What are the various instruments of
stabilization policy?

Q 1. FTEw & % Radaeor & Fit 7=t fifry Rz #ifa & ARy aramr 7= 2
Q 2. When is too much of a good and when is too little of a good produced relative to socially

efficient level of output, explain in the context of externalities.

Q 2. FTHTIF FY & FUN SUTIA X G Fq Iga A0 A=aT grav § < F9 957 F7
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Q 3. Discuss the following with the help of suitable examples as a rcason for market failure
i) Asymmetric information
if) Failure of competition
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ii) sTagrar it fderar

Q 4. In dealing with a negative externality problem, how do Pigouvian tax and Pigouvian
subsidy schemes bring egually efficient outcomes? Which mechanism, tax or subsidy, is
considered better and why?
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Q & BXplain the ooncept of burdon of taxation.

; What are the different coneepts of tax
incidence and how oan they be monsured?
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Q 6. Write short notes on any two of the following:

a)  Contract curve

b Second Fundamental Theorem of Welfare Beconomics
©) Coverage of tax and tax burden.
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SECTION B
Q 7. (a) Given the following information :
C==384+0.8(Y-T)
G = ¥ 850cr
T= X270cr
1=3130cr

1) Calculate the equilibrium level of income.

i1) Find government spending multiplier and new equilibrium income if government
expenditure increased by ¥ 100cr.

(b)What is required rcscrve ratio? How is it used by a central bank to control money
supply in an economy?
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T= X 270cr
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Q 8. Discuss the important considerations of XIV Finance Commission in determining the
revenue sharing between Union and the State and among states to achieve equity in transfers.
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Q 9. Discuss the major changes that occurred in the indirect tax structure in India when the
country migrated from previously existing indircct tax system to the Goods and Scrvices
Tax? Briefly discuss the important featurcs of the Goods and Services Tax.
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